PΙ	A	NT	$\mathbf{F}\mathbf{N}'$	FFR	PR	PICEC	PRO	DII	CTION	
			1717	יועו ו		כועוכוו	1111	יטעי		

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FORESTRY						
Pulpwood						
Pine				123,294	cords	
Hardwood				81,834	cords	
Pulpwood (Total)				205,128		
Chip & Saw				3,009	cords	
Saw Timber						
Pine				63,581,539	board feet	
Hardwood					board feet	
Saw Timber (Total)				67,968,986		
Total Pulpwood, Chip & Saw						\$46,391,946
Saw Timber FOB Mill	,					
Total Forestry Stumpage						\$28,458,434
Christmas Trees	*			250	trees	\$10,000
Pine Straw	*			4,000	bales (40 lbs.)	\$8,000
Forestry (Total)				,	,	\$46,409,946
FRUITS						
Blueberries	*	1.0	1,800.00	1,800	lbs.	\$2,250
Mayhaws		1.0	,	,		. ,
Orchard	*	4.0	650.00	2,600	lbs.	\$3,250
Mayhaws (Total)		4.0		,		\$3,250
Fruits (Total)		5.0				\$5,500
FEED GRAINS		2.0				42,200
Corn	*	198.0	150.00	29,700	bu.	\$68,013
Feed Grains (Total)		198.0		,		\$68,013
HAY FOR SALE		170.0				\$ 00,01 <i>0</i>
Grass	100	25,000.0	4.00	100,000	tons	\$5,000,000
Hay for Sale (Total)	100	25,000.0	1.00	100,000	V0110	\$5,000,000
101 2012 (1001)		25,000.0				42,000,000
						Page 1 of 5

PLANT ENTERPRISES PRODUCTION

Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
HOME GARDENS	2,100					\$630,000
NURSERY CROPS						
Floraculture & Bedding	*				acre	\$400,000
Plants						
Foliage Plants	*				acre	\$270,000
Nursery Crops (Total)						\$670,000
SOD PRODUCTION	*	35.0			acre	\$124,110
VEGETABLES						
Collards						
Fresh	15	5.0	655.00	3,275	doz. bunches	\$22,925
Collards (Total)		5.0				\$22,925
Mustard (Fresh)	*	5.0	300.00	1,500	doz. bunches	\$10,500
Okra (Fresh)	*	2.0	450.00	900	bu.	\$18,000
Snap Beans (Fresh)	9	3.0	180.00	540	bu. (30 lbs.)	\$10,800
Southern Peas (Fresh)	30	26.0	105.00	2,730	bu. (24 lbs.)	\$54,600
Sweet Corn (Fresh)	*	10.0	400.00	4,000	doz. ears	\$12,000
Turnips (Fresh)	17	3.0	600.00	1,800	doz. bunches	\$12,600
Watermelon	*	20.0	270.00	5,400	cwt.	\$32,400
Vegetables (Total)		74.0				\$173,825
NEW - CANE SYRUP	*	5.0	5.00 100	500	Value	\$2,500
TOTAL ALL PLANT ENTI	ERPRISES					\$53,081,394

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production	Total Units of Production Measure	Gross Farm Value
AQUACULTURE Fish bait	*		200 lbs	\$1,200

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
Aquaculture (Total)						\$1,200
FUR ANIMALS				30	pelts	\$159
HUNTING LEASES	50	300,100	No. Acres		acre	\$1,200,400
			Leased			
HONEY	*	25	No. Hives	2,520	lbs.	\$3,402
TOTAL ALL FISHERIE	ES & WILDLIFE ENTERPRISES					\$1,205,161

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			226	head	\$82,122
400-500 lbs.			210	head	\$87,781
500-600 lbs.			435	head	\$199,869
600-700 lbs.			300	head	\$156,000
Steer Calves (Total)					\$525,772
Heifer Calves					
300-400 lbs.			241	head	\$77,147
400-500 lbs.			390	head	\$147,016
500-600 lbs.			200	head	\$85,184
600-700 lbs.			180	head	\$87,750
Heifer Calves (Total)					\$397,097
Yearling Cattle					
600-700 lbs.			305	head	\$158,600
700-800 lbs.			301	head	\$169,313
Yearling Cattle (Total)					\$327,913

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES						
Cow-Calf Pairs				102	pair	\$73,440
Cull Cows				200	head	\$66,045
Cull Bulls				20	head	\$14,610
Cattle & Calves (Total)	102	2,500	No. Cows			\$1,404,876
DAIRY						
Dairy Cows						
Milk	*	350	No. Adult Cows	4,883,289	pounds	\$634,339
Cull Cows				88	head	\$42,735
Bull Calves				193	head	\$5,308
Dairy Cows (Total)						\$682,382
Dairy Goats	*	50	Total Adult Does	1,500	Pounds	\$330
Dairy (Total)						\$682,712
HORSES						
Brood Mares						
Show Horses	*	20	No. Brood Mares	5	head	\$15,000
Recreation Horses	50	800	No. Brood Mares	200	head	\$300,000
Brood Mares (Total)						\$315,000
Stud Fees						
Show Horses		6	No. Stallions	20	mares bred	\$30,000
Recreation Horses		6	No. Stallions	30	mares bred	\$3,000
Stud Fees (Total)						\$33,000
Show Horses	100			200	head	\$800,000
Recreation Horses	400			1,500	head	\$1,500,000
Horses (Total)						\$2,648,000
POULTRY						
Broilers	42			101,245,393	lbs.	\$61,759,690

ANIMAI	ENTERPRISES	PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
POULTRY					
Cull Hens			1,665,836	lbs.	\$249,875
Breeder Flocks	8	181,225 No. Birds	2,393,651	doz. hatching eggs sold	\$909,587
Poultry (Total) RABBITS					\$62,919,153
Fryers	7	120 No. Animals	600	lbs.	\$480
Does	7	120 No. Animals		lbs.	\$9,000
Rabbits (Total)	,	120 110.7111111415	000	103.	\$9,480
GOATS					
Show Goats				head	\$2,250
Slaughter Goats				head	\$1,700
Stocker Goats				head	\$650
Cull Goats			5	head	\$210
Goats (Total) SWINE	*	50 No. Does			\$4,810
Show Pigs			30	head	\$9,000
Slaughter Hogs			2,000	head	\$247,000
Culls			-	head	\$22,000
Swine (Total)	*	200 No. Sows			\$278,000
NEW - PULLETS	6	1 Birds	490,586	Value	\$490,586
TOTAL ALL ANIMAL	ENTERPRISES		•		\$67,947,031
CLAIRORNE PARIS					\$122 233 586

CLAIBORNE PARISH TOTAL

\$122,233,586